BER® 440k 112822 % 1589 %% (f) 112.08. 29
2 Lt R FEE
= # Kire EAE Bare Wi
8]29|= A e § $10:00 g A HeFE § $10:00 g A s € $10:00 A A s § $%10:00
REP BEp BEp REp
HEE % % § § ¥ SRS IEP § 3%
% B £ 13:10
1|8 [30]= B R
& FLB o A PR
- FLBER IR
s ]s1]x S A F 8R(8/31-9/8)
T it 4 W N
91| [Rax~FrRERLIBT LY R |HRERSE 22 97 FH 2
3o (8 2)
912~
9|3]|n
A Fteir € %8:30 A RS € 7830 A ¥t A i € #%8:30 A iy - e ar € 4 8:30
olal- %ﬁi?’fm%%f’iéﬂ AL BB 2k
HEFE RS E 2D KRG E TR R F
3 B B
2095 |- [HEam (55 7 M B o A
¥ L § - e
*; 916]|= FHRFRT Rz $(F2
& 917 |=
B EIEES
919 |~
9 10| p
P g 4R10 ¢ 20 B g 10020 P+ e g 4810 ¢ 20 Ph~ g 4710 ;20
9|11~ 107 23 # 37 8 s R BEE SL AIR R
" ERD LT
S~ & B () Ry SRR TR L mi R |
i 912:ax~m$%z§4gw ﬁ (% %) ¢ 1 BRI B
3 B S ‘ N 112& BT X & f ) b %o in3!
o 913]|= T BB KPR RER T 0
w9 (14]= k(5 E ~WE)
~ 19152 iE(L B ~HE)
916] =
9 17| p
B aEETEE
T8I~ |4 fhswie oo o
” BEEE =X ARPEERTREHAE R
21 9]19]= N
(%)
4 T S I EE T
F|9|20|= i
~ A3 P R E R
|92l B FdF PR R
% | glonls R 2 TES )
- B LYY 5
o 3] [FFE3t & W EFE W EFE HEFLE %
(112.10. 953 &%) (112.10. 93 i) (112.10. 93 i) (112.10. 953 &%)
9 |24| p
9 (25(- ERo L BT
w9 ]26] = PV 4+13:15
5 TREFE R A hRT KSR LR
MR E P § R R DA

LTS TR




28

B
W ()

FRERAEF EY FE

R R A

WHHER

29

e

d g

W

e

30

BRIy - Y P G

x
>

NIRAO (4 o

13

10ﬂ*ﬁ4L
R e

1

1128 # & %5 3 £ Rk (F1
)&

A8y

sy

i
ow

»| e
|
N
R
oo | ol

]
B!
n|w

ole | ole

#| M
{
)

¥- %53

»
>

% =3

R P pFERR

FA& p# R

FA& P # KK

TR

RA& P

R P

A p

RA P

FIik §-BIME & (TR

117 23 & 378 fEsn
BERD LT

4 gt ML RR

EEE A S ’i@]%é 2+

x
>

{4 oo

4

[ IS N

10

P+ g 4#10:20
RERAET(R4)

P g 4R10:20
Yok @6 ¢ 57 5 (10/16-
200 (%)

P Frcg 10:20

P+ e g 4#10:20

10

B g k14 ¢ 30
A R0

N
BEFEH D)

10

M iEn b

g

LBty £ D)

10

10

ERIES S Al &

£ EFDR TGRS

10

10

x
>

f ©

4

[ TSN

10

% fu 4t BT

BEC HIET

10

10

1

FLIF € VR RTEIR

10

Wk B

10

sy

THik & K B

Thix & R A

Thix & R A

THi% & R &

10

10

»
>

(E=

mh 4= o

10

5141 B R LS

,‘Z"/%_/?’” r]?%(

10

A

11

EERE2F T L

FLF §
(%)

e L

11" F8 22

11

11

KERBEF(EL)
ERERE RS

11

11

»
1S

e —
1‘6\9._;

o =

11

ERD LT

11

11

11

11

A g (E

=

S

TEE LM




11

11

11

12

»
>

Ee

[ . S

11

13

11

14

TR

e Y TR

11

15

4148 mEG )

sk g 444182 P

3 eRT 4441 EF

11

16

11

17

11

18

11

19

»
>

& o

[ . S

11

20

ERO LM

11

21

Iy

€ k140 30

11

22

i

1y

Yo ZEY

11

23

NN

|
Vi
N
|
oo | ol

¥-xgd

11

24

[3X)

11

25

11

26

e S

S

11

27

FLBGH R Y S

11

28

11

29

ATER &
RERE L) TT i In )

ERERE RS - F: ]
B REFGE " ForE o4

LEET A1 B mpaE

LA

11

30

BRI

12

127 ¥ 4

12

12

(<R

S

4

12

P+ e g 10 : 20

P~ g 4710 ¢ 20

B+ Frcg4r10: 20
ERD LM

P+ e g 10 : 20

12

12

i § AEDHE E

11524 BBIHZ € HR(E2
D)

12

12

Y- AR AGE

12

12

10

»
>

[
D

R A

12

11

12

12

B AFH §

EETES

12

13

g

12

14

12

15

12

16

12

17

»
>

—
-3

R A

12

18

ERD LT

12

19

12

20

FEE B 4 E R

Frik § A kR 2 E B

112& & ¥ =57 5 B & (SE3+)

12

21

e

12

22

12

23

12

24

12

25

12

26

12

27

AXRBEBE 2B RFEER)

KRR BEFE P RARCY
©

g
h

FRp R
()

€
il
'
-}

ES S R

AARBREGE 2R RY
%)

12

28




? 1212912 WY S v
- 1230]=

12[31] »

INEESLLLEET PEARRRE AP PEARBRRLAP PEAFBRREADP

(*2) (*2) (*2) (e)

e 17 %822
19]1|2]= LY TES TR 3
W s
15l R EET T ICES)
s g -4 R v ¥
o
o 1{4]|=
MR EE

1161+

1] 7]n
18] ¥ 3 STIBP £ & FL 4 A i 2:(1/8-1/15)
2011]9|=
F[L[I0f= [#9 kT EB(= 28 %) FUARTFER(Z XA &) P RTER(E A R) SR T RS (2 XA &)
~ L[]z |#HETER(Z 24 R) FHERTEB(Z3AR) PHARTER(Z XA R) FART FRE(Z2A %)
B[ [12]7 |2 k7T EB(z2aR) A RTER(Z A8 R) S ARTER(Z A R) S RT EB(Z A A R)
AR
~ |1 |14]p

1 [15]- FLnp AR E
F 1 (16| = |4 rar & s ¢ #14:30 A kR $14:30 > g % i $14:30 > Fo P & Heir § $14:30
211 |17]= 51
¥ Uil [16:00 bt s 3% 16:00 i % #7 § B 16:00 i % #7 § B 16:00 R 3F & #e € 3
~ $zxEY ¥zxEd ¥zxEY $zxEY
Bl |z |- FREES B- EHES F- EPARES RIS
s BzxBd $zxBY RzxBY $zxed
=1 ]20]=

11| [#Emy FER 4 FER F OB




